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STD : VIII g 8 ar
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qrerfiardr IAT / Guidelines for the Candidate
1. NI AET g GRETT AR 3T il Hledr TTEl hee] EITdl.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. YReT ge groargdl fdemedien carear dqut At @l #oarErd 30 A 3ifte de quard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. X YRAYTARHET THUT 100 TR I Ycdeh FRATHIST 2 I[0T 37Te.
This question booklet contains 100 questions each question carries 2 marks.

4. |4 9% HISTAUI @IS Mg, AT SRideeel [ABleledn JOMd FHSATE! TPR I[OT TS Shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.

5. 3Ucare qEITEl YA Aol Tl del egrdY.

Check to make sure that you have received the appropriate test booklet for your standard.
6. TIAAALY Hdd Thd 3o SRR 3. SRR ITRTATSY Thd 9Ty fAasrar.
There is only one correct answer. Choose only one option for an answer.

7. 3OUET 9T EIAUATATS! hadd Hadl/ Aol AT dieideTa araRrdr.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg. -
Q. x : - Fill in the blanks Visit www.rtsexam.com for Answer key after 8 days

My father went.........cccecvvveeiuvrnnee To buy some milk.
a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x ‘ @ @

To option a) in the Answer Sheet
8. URET HUCATEX JHH SoRUTIT qAAeTehehs TR .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3MMUedT IRET HATH TRAYRdHAR FeaT foIgTdl T HeX TRAYEART TRET HreMathiedcR 3HTedT Fead .

Write your Roll No. on the Question Paper too and take it home for future reference.




HiafFgerd 2020 T HASH HS UK 3172

INACISED B) cIfehar C) T D) oiSeT
Summer Olympic 2020 will held at -
A) Beijing B) Tokyo C) Sidney D) London

GTolleTehl ShIuTT CCIECIEIE el Wellca RERR -2016 & AT dhelel ATRI?
A) TY.SET. [ B) @ref AT C) =T Agarel D) oI W

Who among the following is not the winner of Rajiv Gandhi Khel Ratna award 20167
A) P.V. Sindhu B) Sakshi Malik C) Saina Nehwal D) Jitu Rai

Xyt SeTfae ool T el ATeRT Shell SATAT.

A) 23 S B) 15 & C) 21 et D) 22 AT
World water day is celebrated every year on -
A) June 23 B) May 15 C) July 21 D) March 22

g Y 3T 9., AT fShumRT 9 HIordar?

A) Aot R fohad B) Ul UoioTd ST

C) FeTehdl ATSe TS D) Heg fsa=

Which team is the winner of 8" IPL League?

A) Chennai Super King B) Royal Challengers Bangalore
C) Kolkata Knight Rider D) Mumbai Indian

GTelloldehT d9TeT 9T fagsr.

A) TIUST B) fSeT STOIR C) TFergarre D) 37HSTT
Which of the following does not belong to the group?

A) Snapdeal B) Big Bazar C) Flipkart D) Amazon
IO § HRATY 29T TsT FgUA s 3ifeceara 3mer.
A) 2 S, 2014 B) 18 thdRl, 2014 C)1 &, 2014 D) 20 U9, 2014
Telangana becomes 29" state of India on

A) June 2, 2014 B) February 18, 2014 C) May 1, 2014 D) April 20, 2014

i eafed ScueallefdR Wiellordehl RcTclel Hald faenfld AT HIvT?

A) dffH@ATg B) Tolld C) b D) Jnar
Which is the most developed state in India in terms of per capital income?
A) Tamilnadu B) Panjab C) Kerala D) Goa

m?ﬁﬁq%ﬁvm%mﬁ?}IﬂﬁW{FM?
A) FdT feeel B) gaIaTg C) AT NEGED




10.

11.

12.

13.

14.

15.

III

Which is the first and single city in India where “Mono Rail” is in operation.

A) New Delhi B) Hyderabad C) Mumbai D) Kolkata
AR si|Teeh IR et 3carest AYT gld?
A) 3TeYCer fhaRYaeer B) IoRTA feheTRuedT

C) diFs g D) A eSS fehatRTeer

Most of the production of Natural gas in India comes from-

A) Andhra Pradesh Coast B) Gujrat Coast

C) Bombay High D) Tamilnadu Coast

GrolToTdhl HIUTAT FIHRT deh ATar?

A) Tegd s 3% sf3ar B) SIS S

C) & ATH F3IeT D) ITIANINIANINT dh
Which of the following is NOT a Public Sector Bank?

A) Central Bank of India B) IDBI Bank

C) Bank of Baroda D) ICICI Bank

GTell STeA9UTeT Acdle HIuATd 3Tel.

A) 2011 B) 2005 C) 2010 D) 2001
The latest Population census was undertaken in .
A) 2011 B) 2005 C) 2010 D) 2001

TaTd SEd A1 3T HIOTRT A HOTAT?

A) AR B) I C) T3yl D) AR

Which country is the largest importer of Gold?

A) USA B) France C) Germany D) India

arer W STl gfgell ST SAT IdeT Elel Ak TTeT HHeTed 97 yal fds
HOATT 3TelT?

A) 3T1.5.97cC B) ATIRH THEAT C)WWW NEIEGRAM]

The first person out of Tata family who has been selected to head the Tata group after Ratan Tata?
A) O.E. Bhatta B) Cyrus Mistry C) Kumar Mangalam Birla D) Noel Tata

STeTcllehdTel e HemelT Jefed 3me?

A) FSCAR B) TRY C) hHAUH D) fasuresn
Jan Lokpal bill is related to
A) Corruption B) Theft C) Impersonation D) Election

Al fAasudld fAage smelel 3ARET FdeT Iegreaer Hor?
A) fgerll ffelest  B) SifeT 2T O E IR D)Wg@ﬁaﬂw
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17.

18.

19.

20.

21.

22.

Who is the newly elected president of USA?
A) Hilari Clinton B) George Bush C) Donald Trump

GTer e FoT T R

How many anglers are there in the following figure?

<+ —

A) 36 B) 8 C) 38

QreiTeT 3MTehcllc FRATedT Siei JUTRT oI fAger.

D) Barak Hussein Obama

D) 18

Select proper alternative to replace the question mark in a diagram.

84 81 88
14 (12| (1809 | | ? |11
A) 16 B) 21 C) 61

el felear eregrear faweurdt ersgrar gt faasr:
T -

A) HidaT B) ShaJHl C) HafaT
Grell eoiedT arFaTdiel TAeT 3.

GIT U arerd.

A) 3ThHE FAT FIET B) H1Td 9ANaT
C) THHFH HAT gITaT NEZ LIRS EIE

3R[EY reeTET G QMeT
A) SHTERT B) dTcshifelsh C) fasshr

Groleldehl HTaaTdeh oITH Adolell 2Tsc hIUTAT?
A) JF B) 2Nty C) I

fARTaUUr Tehaaal 3Tl s QM.
A) H1S B) Y C) IS

D)8

D) shiadZ=T

D) feerfardr

D) &_1

D) U9S

——
w
| —
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24,

25.

26.

27.

28.

29.

30.

31.

32.

Ay AecHHAGIECE T19d e foiasr.

TSI FJcll O -

INESED B) AMER C) HIE NEIRED

wrelel G TegrAR FEl Wsauard aR odig ey 3R, e 3rgs w2
IGEE

fReeg :

A) faar + &g B) g + 3Tl o) faa + 3meg D) R + 3

Find the conjunction that can connect two sentences.
The school bell does not ring the principal arrives.
A) Thought B) But C) As D) until

Find the synonym of the word written in capital letters:
ABSTAIN
A) Influence B) Refrain C) Retain D) Retard

Select the correct word to fill in the blank in the following:
We make Chapatis from wheat
A) Flower B) floor C) flour D) flore

Find the suitable match:
Architect: Design ::
A) Wish: Desire B) Producer : film C) Butter : Milk D) Farmer: field

Which one of the following words has been misspelled?
A) Amnesty B) Overlapping C) Override D) All of these

Select the correct meaning of the proverb:

‘Haste makes waste’

A) You can make something from the waste with haste.
B) If you do something in a hurry, you make mistakes.
C) Don’t waste your time

D) Do the things speedily.

TAEIAT AU FoTeTclt 9 Ao & gl TTRTRAT 3.
INE IERE ERU B) 3SHATGRIY C) faeamgar D) &T9uT

Hydrogenation of vegetable oil is reaction.

A) Oxidation B) Exothermic C) Displacement D) Reduction

FARART g gfaeifas AT YRMAT ST AT .

A) &I B) TcaY C) [awHTaR D) =g

An antibiotic, called chloromycetin, kills the germs of disease.

A) Tuberculosis B) Diphtheria C) Typhoid D) Pneumonia
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34.

35.

36.

37.

38.

39.

40.

alet AT 45 3ATTA Holdl Wl kel TRSUIAT GfAA=r 3uier

FHAT STl

A) HeRIT B) ITOTgSTcT C) hRISIATAIIT D) AMSTERTRIT
Mechanism of two time reflection at 45° each for getting an image is used in
A) Motors B) Submarines C) Barber’s Shops D) Calidoscopes

QrelleldehT hIOTAT 3TEITCAT IOTeR AATEI?

A) degdT B)TI<hIehT C) fsgasar D) A 37Tfor B
Which of the following is not the property of a non-metal?
A) Ductility B) Luster C) Brittleness D) A and B together

C.N.G. T faeaRa &7 spiora?

The full form of C.N.G. is
A) Compressed Natural Gas B) Controlled Natural Gas
C) Compressed Neon Gas D) Carbon Natural Gas

ShiC FUTS 100 % YT HIA .

100 % purity of gold means carats.

A) 26 B) 24 C) 22 D) 28

o & T Theh 3.

A) 3ot 35T B) faega 3o

C) T 3T D) ITTAH 3T

Joule is the unit of

A) Heat energy B) electric energy

C) chemical energy D) mechanical energy

A) & fa@®T B) JquT C) &rehel D) FelH T

Pumpkin, watermelon seeds are sown by

A) Spreading B) poking C) Transplanting Seedlings D) Budding

FHT d9AT ABTUITaTST AT 39197 grdl.

A) 3T B) gfera#d ORGLIGH D) hIoel STI3NTFASS
is used to obtain very low temperatures.

A) Argon B) Helium C) Neon D) Carbon Dioxide

faege Yaehld FaciaTar HeMaAT JATaT AT ATEATA ol

A) SIFF dT B) ARIshel s C)3fad D) dreerd

Basic experiments related to electro-magnetic induction was performed by the scientist

A) James Watt B) Michel Faraday C) Davis D) Voltas
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42.

43.

44,

45.

46.

47.

A= 1957 GTelr g1 afgell HEA 3Uag Haehrend Hise.

A) S=HC 1A B)3+HC 2 A C) TYAfAF 1 D) 39el
The first artificial satellite launched in the space by Russia in 1957 was
A) INSAT 1A B) INSAT 2 A C) Sputnik 1 D) Apple

sl QAEr oM orael.

A) SIS, UIATT  B) IMeseced C) S+ dsfash D) $EIHIS
Who discovered neutron?

A) J.J. Thomson B) Goldstine C) James Chadwick D) Ruther ford
Felodedl § AT FEUTST g1

A) STHATEAT Ydehsiel Jaey THE Yod EUTA

B) STHeiIcilel Stehsd aey Yo Yod T

C) STl JAE e

D) STHTICIST Ued wEredT sioaid YW i feehmor

‘Flensburg’ in Germany is the

A) Last railway station in the eastern part

B) Last railway station in the northen part

C) Famous sea port

D) Major industrial town on the bank of river Elbe.

fegsr aTwde FHS 3MR?

A) STHAT B) Scall C) AR D) 3o
Where did you find Gibson desert?

A) Germany B) Italy C) America D) Australia
gedelel Hald ofiel F&T IoTcl?

A) ATSST B) 3R C) fAtaferdy D) 33T
What is the earth longest river?

A) Nile B) Amazon C) Mississippi D) Ganga
g @ SIS gAR 3471 TReAY 31T

A) ITHT SRGRIGH C) 9Taxor D) ehad
Which layer of the earth has its thickness nearly 3471 kms

A) Core B) Sial C) Mantle D) Crust

| FECATAT FUTTAATST HIUTCAT G2 JaThR EcTell?

A) IR B) STUTeT C) Hrerenr D) AR
country has take lead for setting up SAARC.
A) Russia B) Japan C) Sri Lanka D) India

( . )
L & J
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49.

50.

51.

52.

53.

54.

sTsTadiel fohs e AfFdT Famd.

A) " B) 77, C) et D) ¥
The insects living on tree secret lac.

A) Flame tree B) Tendu C) Mulberry D) Ain
AT BT &R el 3.

INICIGICES B) SqgTHIaR

C) Silg T AT 37T AHAToleh Teehlay D) aTeTdhl Fa

Color of soil depends on

A) Texture B) Organic Matter

C) Iron, Calcium and other chemical D) all of these

HRC IO FEUTS 1 ?

A) fRarTr gcer B) T FeRr C) YA@SAT WeRl D) dldde
What is Karst region?

A) Costal region B) Agricultural Region C) Limestone region D) Desert
NS A #eaT @3 T AT ATISATd.

A) R B) ARG TPFd T

C) 3itecforr D) et

Opal valuable stones are mainly found in

A) India B) U.S.A. C) Australia D) China
SColldl JoTYTell PIOTAT?

A) T B) @ C) e D) IRH

What is the capital of Italy?

A) Rome B) Greece C) Milan D) Paris

gl AT T GURUTETS! HI0GTT 3o,
1) GrATToe 2) 3nfd 3) erfors 4) =TS
Hunter commission was established for reforms.

1) Social 2) Economic 3) Educational 4) Judicial

IRE feq faeardiordl Furger Hofr Fer.

A) IS B) el Higel HlelAT

C) STl TSI D) {digaTd R

The Banaras Hindu university was found by

A) Gandhiji B) Madan Mohan Malaviya
C) Lala Lajpatrai D) Rabindranath Tagore
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60.
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YT FRPIBIA SASC STl alG ToTATOT STelT.
NI AGED B) s RuaT C) S &t D) dis dael

lIbert Bill controversy took place during the period of

A) Lord Canning B) Lord Ripon C) Lord Curzon D) Lord Wovell

AR AT TATIAT HIUT Fhell?

A) ST THARG TT B) & SARTIUT %

C) HETcAT SAaaT Fel D) Ty faear R
Who was the founder of the Satya Shodhak Samaj?

A) Raja Rammohan Ray B) Sri Naryan Guru

C) Mahatma Jyotiba Phule D) Ishwarchand Vidyasagar

A) AT A% - dig® RO B) foT - T@eThd 3ol
C) Il - TYRYT FATAG D) GHTY &I - BRAS scllh
Which of the following is incorrectly paired?

A) Motilal Nehru — Nehru Report B) Jinnah - Khilafat Movement
C) Gandhi - Champaran Satyagraha D) Subhash Bose - Forward Block

Grelloldehl HIUTAT HTgTeleelT HglcAT IMefielT Jafed sTegd?

A) BIHET TaToled B) TTATTT FHIACHT 3eTeleT
C) 3HEPR eI D) R BISr 3erelst
Mahatma Gandhi is not associated with which movement?
A) Home Rule Movement B) Civil Disobedience Movement
C) Non Cooperation Movement D) Quit India Movement

g fa=er Meds aRveardr 3ufEa ga?
A) SO Ag® B) 3T.d1.3TR.37HghT
C) TER TedHATS T D) 3I.3elg JTE
Who among the following attended all the three Round table conferences?
A) Jawaharlal Nehru B) Dr. B.R. Ambedkar
C) Sardar Vallabbhai Patel D) Dr. Rajendra Prasad

STTIITaTT dTeT SHIUTAT AT 318 ?

A) TGS B) UcelT C) 3FAT D) ®IgR
Jallianwala Bagh is situated in the city of -
A) Lucknow B) Patna C) Amritsar D) Lahore

e - 3TITaeT IR PIUTCAT ATl SITelT?
A) 1930 B) 1931 C) 1932 D) 1940
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63.

64.

65.

66.

67.

The Gandhi Irwin Pact was carried out in the year -
A) 1930 B) 1931 C) 1932 D) 1940

Tl ARATT ITSEIT HIIEUT TATIAT STl

A) 1861 B) 1885 C) 1862 D) 1902
The Indian National Congress was established in -
A) 1861 B) 1885 C) 1862 D) 1902

TYF AR ATATAT FIS 37

NG R CE B) {Rd C) §38 D) =i
The headquarters of the United Nations are in

A) Netherlands B) India

C) England D) New York

Al gaFehid TART g
A) SRITT THTAY 3delee 319

B) dfRae 318

C) gemedr Toiehy faaRavofiay el 3e.

D) SRl U T Vofehid faRERUIaT 3deles 314d.

The nature of Human Rights is
A) Dependent on the state religion

B) Universal

C) Dependent on the political thinking of that country

D) The state religion and political thinking of that country.

T ST HeTdl TR STERATAT Wieier feaslt uifier ahefl.

A) 10 38.1948  B) 15 ST, 1950 C) 20 5t 1970 D) 5 39EE 1960
The U.N.O issued the declaration of Human Rights on -
A) 10 Dec 1948 B) 15 Jan 1950 C) 20 July 1970 D) 5 Aug 1960

ST 3x+ 2y = 20 30T xy = 19—4 @ 27¢ + 8y T FFeAd ™rdi?

A) 6440 B) 7440 C) 7540 D) 7450
Find the value of 27x3 + 8y3 if3x +2y =20 & xy= 1’74 ?
A) 6440 B) 7440 C) 7540 D) 7450

(2x3-5x*+8x - 5) T (2x*-3x + 5) a1 NN T HIMHR HIal.

A) x+5 B)x+4 C)x-1 D)x+2
Divide (2x> - 5x* + 8x - 5) by (2x*-3x + 5) and find the quotient.
A) x+5 B)x+4 C)x-1 D)x+2




68.

69.

70.

71.

72.

Qrellel 3ThcllclsT 'a' 3107 'b' IATATST T e,

From the diagram find the relation between 'a' and 'b".

A)b=3a-1 B)b=2a-1 C)b=3a+1 D)b=2a+1

FheX T Aol fhAd UM 9 : 5 3 3. SR Fheldl A Aehord
feFAaT 3. 4,2005 3fUF 38 AR TFHerr AT frcdr?
A)E. 5250 B) %. 5200 C) %. 5000 D). 4800

The prices of a scooter and cycle are in the ratio 9 : 5. If a scooter costs Rs. 4200 more than a Cycle.
The price of cycle is:

A) Rs. 5250 B) Rs. 5200 C) Rs. 5000 D) Rs. 4800

Grell f&eTean 3ehcilciiel AIIaEeT Colcy &Tthas e,
In the given figure use the measures and find the area of the plot.

40 m D
A

9m

B

K -3
\)GOm ¢

\
A) 570 TEHT B) 812 TiHT C) 972 TiHAT D) 570 TIAT
A) 570 Sq.cm B) 812 Sq.cm C) 972 Sq.cm D) 570 Sg.cm

U AN FAT eTadl 10 % cah 37T AT el AT gld. SR oIT AT fFAd .
1,00,000 3Tg. X cleT auie fa= fhAd fordy 3d?
A) $.121000 B) ¥.100000 C) $.80000 D) %.81000

The cost of machinery depreciates every year at the uniform rate of 10%. What will be its cost after
2 years if present cost is Rs. 1,00,000.

A) Rs.121000 B) Rs.100000 C) Rs.80000 D) Rs.81000

ThT TRATRA AT &Tha 80% Gt Mg, X HGTeAr Yodeh STofEl ofiel fehcdl
3.

A) 8.96 HY. B) 10.26 #T. C) 13.54 #Y. D) ITdhT ATET
The area of a square field is 80 3% sg. m. the length of each side of the field is
A)8.96 m B) 10.26 m C)13.54m D) none of these

10

——
| —



73.

74.

75.

76.

77.

/288 X /432 x/648 & fhaa e,

Find the value of V288 X /432 X1/648
A) 432 B) 565 C) 469 D) 328

5 a N
ThT IATAT o H1H Teh HUH 10 lGdHTd qUT Al X TTell AT ATl Hellel 1A qur
FIOITATST ATET fohdTr fead oImeTdldT.

5
A man completes P of a job in 10 days. At this rate, how many more days will it take him to
finish the job?
A) 75 B) 5 Q)7 D)6

Ul HUTER g AT SIIhIdT JIMUET 5 ay SEd g, Idl I 3o a3
TITEAT 10 NTEAT HAULT il ge T8 HE. A Helall SieHell degl AUETT ag fohell
FEA?

A)0 ¥ B) 25 a¥ C)30a¥ D) 28 aY

A man is 5 years older than his wife and the wife is now thrice as old as their daughter, who is 10
years old. How old was the man when his daughter was born?
A) 20 years B) 25 years C) 30 years D) 28 years

TehT acjearal Ger 45 HHT 317 T GEAT dcjoorel WE 15 ST 318, HGIT dcedlel 900
YA HAT FHIAAAT Sige B glcliel AT fohell ge B olgTel ajard dagard 3Ha’id

glcile.

A) T B) facue C) drguc D) &I3Uc

Circumfernece of one circle is 45 cm and that of another circle is 15 cm. the number of rotations to
travel a distance of 900 cm by a smaller circle will be .........cooveennnnninnnnen. times the number of
rotations of the bigger circle to travel the same distance.

A) twice B) 3 times C) 30 times D) one and half times

o o AN

Greflel 3Tehcild e X HATT hIar.

P Q
40°

Y

35°
S R

Y

Find the measure of angle 'x' in the figure given below.
A) 285° B) 175° C) 275° D) 195°

11
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78.

79.

80.

81.

82.

83.

AT PQRS =T {Wifehel SheledT HTEIT &1 3Mehcild [GeledT HATATa®T hiar.

Find the area of the shaded region of the rectangle PQRS whose measurement is given in the figure.
7cm 5cm

S¢ D a—
IScm
7cm
M
——> Q

P 5cm
A) 92 T B) 96 HHI C) 94 HHY D) 95 HHT
A) 92 cm? B) 96 cm? C) 94 cm? D) 95cm?

SiSdrear qadel Hord AR UM 3:4 317 3¢ TelleT HIVI UM 3 : 4TI FHATA
3Me?

A) 1:2 B) 18: 24 C) 6:9 D) 16: 18
The ratio of boys to girls in babita's class is 3 : 4. Which of the following ratios is equivalent to 3 : 4?
A) 1:2 B) 18 : 24 C) 6:9 D) 16:18

WS ®T T : Simplify :

3x—x2-2 6x—x2-9

x2—2x -3 x2—5x+6
-1 +1
A) 1 B) — )= D) x
x+1 x—-1

TGreflel 3Meheiclel THoT fohcl aRe 3mea?
Count the number of Squares in the adjoining figure.
A) 10 B) 8 C) 16 D) 12
ATeTa g 34T,
Choose the odd one out.
A) EV B) GT C) IR D) Q)
* YT SR AIOTdT 37 A5al?
Which number will replace *?

5 6 7

300 400 500

9 10 1

345 460 *
A) 755 B) 535 C) 775 D) 577

12
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84.

85.

86.

87.

88.

89.

6T

N

GTolleT 92Td UfgedT &l UgiAed Uah fafse gey 3. aara 9 31T gl Uil
HATHAEY YOT 37Tg; TR] ATcllel Toh Ue IMSelel 38, o Madelel Y& 3TR TN MEM.

Instruction :
In the following questions pair of first two terms have certain relationship. to establish the same

relationship between the pair of terms on right side of :: select a option to replace the question
mark

il - N -

A) B) C) D)

Il

AEFJ : KOPT :: ? : QUVX

A) GKLP B) GLKP C) HKLP D) HKQL
53:38::62:7
A) 50 B) 52 C)74 D) 70

Grelledehl T Ao 3MTehcllel fGeledT regrar Fara HE IHYOT eeiidal IS,
HERTSE, ISRIC, aar

Which of the following venn diagram indicates the best relation amongst the following
Maharashtra, Gujrat, Goa

© ® &
A) B) C) O D) \_

ST WINTER @T QTe¢ 725341 AT iasal ¥ RENT 8T Ueq AT i?lgk‘»l?
If the code of WINTER is 725341 what is the code of RENT?
A) 1543 B) 1345 C) 1435 D) 1453

IMBAT ST HIUT HEAT A$el o el A al AT foiasr.
Find the missing characters from the given options.

2 3 719 1 ?

9 e 15119 | 3 | 13
A) 6 B) 4 C)7 D)5

13
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90.

91.

92.

93.

Grellel f&eear U9aT 3Tehcllel 3RRATCHST FTHTAT TAANTA TR JHThe I e,

Choose the correct mirror image of the given question figure from amongst the four options.
9T Bﬂ?-ﬁ / question figure

34

3 WT/ Answer figures

gt 3 )2 5

A) B) C) D)

el f&eTean Jehcirel IToATcieT TicTAT ATl TR 3TehcdidesT QATeT.

Choose the correct water image of the given question figure from amongst the four options.
9T 3-1T5!3_cﬁ / question figure
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Identify which one of the alternative figures completes the pattern in the given matrix.
9T 3-TIT=<Ij_cﬁ / question figure
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Find the odd man out.
A) Kothi B) Banglow C) Hut D) Igloo
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Grellel 3Mehell fohehe, Pedicl, T Hass! WSUAT [aeTTeai= geidd Mg, hdrar 3arg
T T fATel T WBUIRY ﬁ'd\?IIT?ﬁ' BT The diagram given below represents those students

who play cricket, football and Kabaddi. Study the diagram and identify the students who play all the
three games.
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A)P+Q+R B)Z+T C)S+T+2Z D)S

Groflel 3&TATIOIhT qUT SHIUATATST TRATIwEredl SR UM 376 GATAT QM.

Which letter from the options will compete the given letter series.

X T P L H ?

E H K N Q ?
D E D M
AL_T )Y ol p)L_°

e FRIeeredn Sl UM HEAT TN QATe.

Which number from the options will replace the question mark?
15, 18, 23, 30, ?, 50

A) 38 B) 37 C) 36 D) 39
Tehl Hichfder ATYT NIL, & 2Tse OMJHMK 37aT fIfgdra, a¥ < #™a PUT 8T e Har
fafgara?

In a code language, the word NIL is written as OMJHMK. How will you write the word. PUT in the
same language.
A) 0QTVSU B) QOVTUS C) QRVWSU D) ONTSSR

Sf9dar g ST =TT FATT 30 U AR 3R, UM TS I AT g THTIT
7:488d, IR G e aF H1I?
A) 25 a¥ B) 28 I¥ C)32 a¥ D) 35 a¥

There is a difference of 30 years between Babita and Ranjana the ratio of their ages willbe 7 : 4
after eight years. What is the age of the Ranjana, Today?
A) 25 years B) 28 years C) 32 years D) 35 years

TGrefleT 3Mhcilcilel THUT 3T fhefl?

The number of rectangles in the given figure is
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A) 15 B) 17 C) 18 D) 20

10?57?17?5=11
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